


2) diOl O = ©
=) No fw,piwf
3) d#o, a4 o

C=6 = Ko Hrrd /zv‘wf’

G (0 o ) l) d_ =03 > No ﬁ'\’l“}‘f{vaz’
0
A

= 4 artf preet = o ’)J\{: uu;?u‘s*afufb
X:E.

Sirgedan. s angeidpn, oo
YT s
— @A’ < L.U < L D v

&G(Q 6\00 ‘4{,’@/«
U=[ oy f :<°b° o 1 th
oo G 0o ¢ do |

(J,I A5 nen siraudon . Then H=LDU



Maﬂﬁ Sz ﬂ—?ofbé Same Jc/J?L%

patvixc A severad RS vectos b.

Lu = 0 (n3),

Ax = L



Q:

) GFE = ¢

2) Chx= cb
=) U')L= E\é
Sche .

‘:j[fed.s f} @Obu\d/t,ry — (ﬂ'\rd'ZI'r}f?

0123400 + O - 00556%
= 0128947 (fs wsd

- 0-1298 ( te W}

-0 00] 1- 0001 g®0] g —
0- 4 1%¢ 51198 --



0- 0001 4 i
//}9 o -49999 -9998

¥V = —9999 - 0.9798797 (toua)
" 1979
= J (to eorp)
Daei QWLJ;]’
Wxo-00014 U = 3
to Hhe ww{; = W= 0
; 0]
e (0)
C,(mre,a‘ M’) Ux06-000]1 4+ 0-71918%9
=
5 U=

ws - 1
0-49998 1

To ols: ODM‘M dzf*/o‘ﬁrﬁ_
\5 /Vlet/(ﬁ/'y Trwvenne

S~ —

L Lxistence - (?2 all 091'\/645 ang
o —>.en 9



g ue
Y A%’-"O (7[6’ x £ 0. Oloes ﬁ_,.gm/;r].?
Ve = }
L» J) T enuss A Ax =4 o \
= % =0 /
C«Sk‘f&.(ﬁ.&'c}s /
~ ——
QD \A Jb) = 108 'A \




